
Code Explanation (Ultrasonic Sensor with Arduino) : 

 

𝑉𝑒𝑙𝑜𝑐𝑖𝑡𝑦 𝑜𝑓 𝑠𝑜𝑢𝑛𝑑 =  343 𝑚/𝑠 ≅ 0.034 𝑐𝑚/𝜇𝑠 

We know the relation for velocity, 

𝑣 =  
𝑑

𝑡
 

 

𝑑 =  𝑣 × 𝑡 

 

*The pulseIn() function returns the time in microseconds (𝜇𝑠)  

*We need our distance (d) value in centimetres (cm)  

 

𝐷𝑖𝑠𝑡𝑎𝑛𝑐𝑒 (𝑑) =  
1

2
× (0.034 × 𝑡𝑖𝑚𝑒) 

 

 

 

Important Note : 

 The time recorded in the ‘time’ variable is for the whole journey i.e. from 

emission to reception. Due to which the corresponding distance recorded will 

be ‘2d’. 

 

But since we are only interested in ‘d’  Distance between sensor and obstacle, we 

introduce a factor of  
1

2
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